Set Id : 49829 47 AO SBO JLM TG_04-Nov-2018 BATCH4

Section 1 - General Knowledge

1) A narrow strip of land connecting two large land 1) & = ¥ &= & SIS ATAT IH FHT Tah b0l & ST
areas otherwise separated by the sea is known as 1Eq TR G AT €9 H 3T ERIR R IR T

STaT 872
A) Island A) T
B) Strait B) Sterefer
C) Peninsula C) YT
D) Isthmus D) ereteifer

2) A new battery has been developed by researchers 2) T2 FHITRAT % GHET UATEE SEISE AF SHIATST 6
at the Samsung Advanced Institute of Technology, ererFarat T =W A= St &t qaaT § 5 AT I

South Korea with 5 times faster charging speed than =TRRT T ATAT U A% de<T fawfad #7581 < Frg a2
lithium ion batteries. What is the new material of the ®THIT & 3T g< 287
battery made of?

A) Nitrate A) TS
B) Chromium B) ¥
C) Graphene C) uTshid
D) Carbon D) EIER]

3) According to The World Happiness Report 2018 3) IATzee A9d & &0 g¥edae saavdie A qeas

released by the Sustainable Development Solutions T ST aes gfowe RATE 2018 F AT, f3a 1 Tar
Network for the United Nations, the happiest country in GeTgTer 29T &:

the world is A) frris
A) Finland B) st
B) Switzerland C) TTHTH
C) Denmark DEIES

D) Norway
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4) Which instrument is used to measure the humidity 4) FTHSA | SATEAT T ATAA 6 [orT TowE =7 T ITANT 64T

in the atmosphere? STt g2

A) Pyrometer A) qTETHET
B) Barometer B) SrHiex
C) Hydrometer C) gTEgIHIex
D) Hygrometer D) greiHiex

5) The first Battle of Panipat was fought in the year ~ 5) aT¥iua #it agett @=Ts o 9. & =T T2 12
A) 1556

A) 1556
B) 1521 B) 1521
C) 1526 C) 1526
D) 1761 D) 1761

6) In March 2018, a signed hardcover copy of 'The King _6):#T=.2018 #, I1¥& STl qTed 'TST HT S AT
of the Dark Chamber', the English translation of the '& f&iT (% T ST =5FC T FEATANT FTeHaAL HIAT HIh

famous Bengali play 'Raja' was sold for USD 700 at an ¥T5T % U sitFa & 700 USD # farsht| =9 9% foferer gmeo
auction in the United States. It was signed by gEATAT oA AT AT?

A) Sunil Gangopadhyay

A) T INTATEATT

B) Sarat Chandra Chattopadhyay B) %d W% AT

C) Sukumar Ray C) §gHT ¥

D) Rabindranath Tagoré D) TeigATyT ST

7) The Pemayangtse Monastery is located in which of 7) THTITH A XA & Awfertad § ¥ o T | fRuq 872
the following states of India?

A) Meghalaya INEEIED]
B) Assam B) s H
C) Tripura C) Br=r
D) Sikkim D) frfae
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8) Who among the following is known as the Ex-Officio 8) MHTeIad H § HIF TSTEAT & Td Ta Teqe] % &7 |

Chairman of Rajya Sabha? ST ST 872

A) President of India A) AL F TP

B) Senior most member of Rajya Sabha B) Trea |YT Iy (HIHa¥ q1%e) oaeq
C) Speaker of Lok Sabha C) FATHEAT F AT

D) Vice President of India D) 9T<d & SULTg9ia

9) The Constitution of India offers all citizens, 9) WIa T TiAeMT T AWRHI, PTG ®T T A<
individually and collectively, some Fundamental TR &9 &, Feg HIfersh ATAHT S&TH F2ar gl Aerferfea
Rights. Which of the following is NOT a Fundamental & & &= &7 ®ifers faeds! a2

Right?

A) Right to Work A) FTH =T ATEHT

B) Right to Freedom of Religion B) & T Tac=IaT S AR
C) Right to Constitutional Remedies C) "= IUHATT &1 ATeFTT
D) Right to Equality D) HHTAAT &7 ATEHTT

10) Match the following monuments in List | with the 10) =T || ¥ Fafaq Ufdgrs AReeal & arr g4 | §
corresponding historical personalities in List Il who built & ferfera Tameent &1 e #7 [irgid 391 FaiT Fear

them. 2l

List | List II AW, =T | =l

1. Humayun Tomb a. Empres; _Bega Begum 1. AT, T AFHALT | 3T) HETAT 91T a7
2. Lal Quila Ib.ghah Ja_han 2. 7Tt Foher ) 9TTE STEf

3 Bibi ka Magbara ; Empgror Azam 3. &t =T FFAT |) TS ATH

4 Fatehpur Sikri  |d. Al;bar 4. FAgX HIHT  |7) AFAT

A) 1-a, 2-b, 3-c, 4d A) 1-31, 29, 3-9, 4-T

B) 1-d, 2-b, 3-a, 4-c B) 1-g, 2-, 3-31, 4-9

C) 1-c, 2-a, 3-b, 4-d C) 19, 2-9, 3-9, 4T

D) 1-d, 2-c, 3-b, 4-a D) 1-g, 2-9, 3-9, 4-37
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Section 2 - Logical Reasoning

11) How many semi-circles are there in the following 11) fAferfea srfa & foraw srefg<r g2

figure?

N N
S <
A) 2 A) 2
B) 1 B) 1
C)o C)0
D) 3 D) 3

12) Kiran's age is twice the age of Tushar. Tushar is 12) ¥ .39 U AT 3T &1 IRAT g1 TATL AT TIAT
celebrating his 50th birthday today. What was Kiran's 50 3T ST AT 7g 81 25 AT Tgel {oheor i 39 F47 of1?

age 25 years ago?

A) 25 years A) 25 T
B) 100 years B) 100 a9
C) 86 years C) 86 a9
D) 75 years D) 75 a%

13) There is a certain relationship between two given 13) f&T 7T a1 eTeal % 1= FlE TFH g, 2 F TH qLHh AT
words on one side of i and one word is given on :: % AL TTH Uk T2 (&AT AT | AT TH o7 91538 70
another side of :: while another word is to be found from T fasedt & & wTH 3T ST 2, 30 fAhew &1 agt avaee
the given alternatives, having the same relation with =T =TT ST faw 71w 9rsat & Sie & = 81 72T fwew =7
this word as the words of the given pair bear. Choose FATa FIforU|

the correct alternative.

Homicide : Human being :: Fratricide : ? AT | |19 = d1qad : ?
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A) Brother
B) Wife

C) Father
D) Mother

A) ATE
B) Tt
C) fuar

D) |TT

14) The sum of the ages of Harish, Naresh, Malini and 14) gLter, 72T, AT 3 STohdl &1 S FT TRIEA 180 a9
Jacob is 180 years. Sum of their ages 4 years ago was | 4 |1l T8l IhT SH HT TRT AT

A) 135 years
B) 163 years
C) 164 years
D) 145 years

15) The number present in three out of the four options

A) 135 a9
B) 163 a1
C) 164 =¥
D) 145 T

15) T faw 0 =T et § § q19 | HIS[E H&AT, ae8 &

given here is related to the word in a similar way. The W& HTHTH TLih & HaTSd g1 TAH & TEAT DI a7 52

odd one out is
A) Suitable - 8
B) Proper - 6
C)Fit-3

D) Undue - 4

16) There is a certain relationship between two given
words on one side of :: and one word is given on
another side of :: while another word is to be found from
the given alternatives, having the same relation with
this word as the words of the given pair bear. Choose
the correct alternative.

Leather : Shoes :: Plastic: ?

A) Suitable - 8
B) Proper - 6
C) Fit- 3

D) Undue - 4

16) T T T oTeaT F S FIS q¥a 8,0 % Ueh a< o o
* AL ATE UF 951 RAT TAT g Tl TF o7 9% QU
T fasedt § | 9T AT ST 8, 39 AT & agt avae
SET ATRY AT 3T 0 915371 o SATE & 14 | Tal Ashed &
ESIEETIE

THET : [ o AT : ?

Page50f32



Set Id : 49829 47 AO SBO JLM TG_04-Nov-2018 BATCH4

A) Chairs A) Tt
B) Engine SESE
C) Mirror C) =9ur
D) Juice D) &

17) Jeena is the mother of Zupin and wife of Hitesh. 17) SHT, A it 7TAT T fEaer & it g1 e, T4T1 F°7

Hitesh is the father of Mona. How is Jeena related to f9dT g1 S{AT T HET & 47 Haef g2
Mona?

A) Daughter A) =T
B) Mother B) Arar
C) Brother C) w2
D) Sister D) sg

18) Which of the following diagrams indicates the best 18) % & & = |7 = swavter, w7 o & * &= qa4

relation between Sky, Moon and Sun? =T Ha e T a1 a?
f{-d_\\\ f{-d_\\\
A) (O 0l A) (O Q)
Ny
.'I'-H- Ly .'l'-H- Y
B) () 8) (1))
'q._v"_u'_,.-‘

C) C)
D)@ D)@
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19) What is the next term in the given series? 19) ¥ < J@AT H (T HEAT FT 52

The series is 30, 57, 111, 219, ?
A) 457
B) 435
C) 427
D) 421

et &: 30, 57, 111, 219, ?
A) 457
B) 435
C) 427
D) 421

20) Sonam and Neelu spend a certain amount in the 20) FHH 3T A1 26: 24 & FAITCH TF 2 i ==
ratio 26 : 24. What is Neelu's expenditure, if she Il gl FIe T @= fhaaT1E Tf a2 A & €.10000 F7

spends Rs. 10000 less than Sonam?

A) Rs. 160000
B) Rs. 150000
C) Rs. 120000
D) Rs. 140000

T T 32

A) %.160000
B) %.150000
C) %.120000
D) %.140000
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Section 3 - General Hindi

21) ‘TE 9151 T 3o (AATH G -
A) T
B) SaTe

C) =T

D) 3=

22) FEAT § ATET AAT Tg GHIA o AT STATHH o o 1 F ag Tg<f #18 & ST 4TI
AT & TR 39T o forT 3= qEgrasT g -

A) TET T T ST
B) firg aterm
C) 9T & WIRTAT
D) &= 4T femmT

23) ‘g’ FIT AT 7% 57
A) Zers

B) dH

C)aga

D) fazeft (smra)

24) ‘FIE TAF 3T AAMET T & {7 AT ATRIT<E T AT HlToT7 -
A) I FLAT ITE I

B) aE Hg WEX &l a1
C) 19 AT & WYT =TT
D) sfreg T sfifar areg i ofifa
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25) TTH ¥ UF ®T & 4F &, SO TEA HI150-
A) fRreme

B) ST

C) ¥

D) fram=

26) ‘U’ I AT 57 872
A) TeEH

B) 97

C) zerst

D) fa=eft

27) ‘a1 T G T HH IST FE ATV’ Ih AT H I 91 JT T d 67

A) FTg #T

B) T a=T

C) e T

D) &% ga

28) 9T&&1 il I T TAATAL o [HATST —
1. ATdE a.trrcT-en'{

2. 77 b. T8

3. 9% c.qd

4. 9ty d. Fa
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A) 1-d, 2-a, 3-c, 4-b
B) 1-a, 2-b, 3-c, 4-d
C) 1-b, 2-d, 3-c, 4-a
D) 1-c, 2-b, 3-a, 4-d

29) E F Ogl waraT oo d af i a g -
A) 9T, TTgAT, FRATT
B) Txufa, weraT, fagrw

C) &Y, TaIST, Th

D) 9T, o, araq

30) =k T it i -

A) T
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Section 4 - General English

31) ldentify the synonym for the word - exigency

A) solvency
B) agency
C) regency

D) emergency

32) What kind of a phrase is the underlined part of the sentence? The boy at the back likes to jump over the
fence.

A) Adjective Phrase
B) Verb Phrase

C) Noun Phrase

D) Adverb Pharse

33) Identify the Antonym for the word - simultaneous

A) coincident
B) asynchronous
C) chronic

D) concurrent

34) Choose the correct word substitute for the following sentence: one with expert or special knowledge of a
field, especially arts and crafts, and competent enough to judge

A) connoisseur
B) artist
C) amateur

D) dabbler
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35) Identify the part of the sentence that has an error: When the President arrived every one in the audience
stand up.

A) stand up
B) in the audience
C) arrived every one

D) When the President
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Section 5 - Basic knowledge of Computer

36) The bookmarks are used in MS Word to 36) FFATT FHT ITAN MS T § a1 1At 8

A) locate the comments in the document A) TEATAST (STFgHe) | feoquft 1 oar @ & forg

B) locate the headers and footers in the document B) ZEATaST (STaFgHe) H B2 oY B &l TaT o1 & forw

C) identify a specific location or text in the document C) AfasT ¥ Iooi@ & 0w e & U+ fafere e ar
for future reference Ferea Y TgATH A o for

D) identify and correct the spelling errors in a D) 9T | Ivar@ & forw et a=aresy (SiagHe) ¥ aaqr
document for future reference FT AT AT TZATT FIA 3T Srg. Tl HIA & 1017

37) In which network topology, all hosts are connected 37) T Feas TS §, 4T e UF Heo Ra=a o
to a central device, known as hub device, using a point- S BId 8, S UF Tige-g-q15e FHlF" HT STANT F0h g

to-point connection? A=y % 9| & ST S1ar 8?2
A) Star Topology A) T TraTATSIT

B) Bus Topology B) & ZrqreAtsir

C) Ring Topology C) Tt arareristt

D) Mesh Topology D) Ter arqreistt

38) Which type of WAN connects the end systems, 38) Uz fawew & fFg T&1¥ &1 WAN Sigar g, e s

which usually comprise a router that connects to ¥ T¥ T T3eX MH raT g ST et 3= LAN a1 WAN
another LAN or WAN? H {21 87?

A) Multiple slot WAN A) T F=te WAN

B) Point-to-point WAN B) Tige-Z-aize WAN

C) Switched WAN C) ffa=s WAN

D) Virtual WAN D) a5t WAN
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39) “A SIM card was procured using my name but | do 39) "HY qTH FT ITANT Fh UF BH w1 99 FFaT 72w
not know about it until | got a call from IT security T T2 THE 1< § T T TaT A5l AT ST T et (IT)
team”. AT & | H3 TF Hidl qgl 917 g2l

The above mentioned statement is valid for which kind
of security threat?

SUIE AT Toh TeT o FREAT @AY & (o[ 71T 872

A) Malicious Software’s

A) gotaaToet (Arferferae) atdease
B) Identity Theft B) 9T I AT
C) Spoofing C) graTgsT (FIhT)
D) Cryptography D) Fe-ar@

40) Which of the following input devices is used to 40) Fafofaa ® G.fFq A Rarea &1 sFqaTa F79e<

position the cursor on a computer screen? ThIF U FHE @ | [T STaT 872
A) Remote A) RHTE

B) MICR B).MICR

C) Mouse C)#H=3H

D) Barcode reader D) sTehrE {27

41) Which is a hardware’ component used by 41)2o%ae LAN & Fidae e 3 LAN 9% 7T STHIIT
computers to connect to Ethernet LAN and T HaT8 FIA % o0 Hge? gIT TIH gle a9 HAe i

communicate with other.devices on the LAN? qarg?

A) Input device A) =9 RarEa
B) Ethernet card B) a¥AE FTE

C) Repeater C) frdtex

D) Output device D) s3eqe Rar=H
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42) ldentify the property which does NOT belong to line 42) 3& faerear £t ag=m ¥ ST A2+ e ¥ "afea agt

printers g

A) Prints one line at a time A) TF g0 H UF 12 e Far g

B) Characters are formed by combination of dots B) SfeH & HATST FIT hiFed HT fAutr grar g
C) Better printer speed C) s=dt ez wfiz

D) Characters cannot be printed with different fonts

D) STeT-37eT Wive o AT e &l {e 7gi fohaT ST Fehar

43) Which among the following refers to the act of 43) fRwfofea & & == a1 FEew Fihzze amft $i
copying copyrighted material?

staferfo a=Te & Ff 7 "etifa Feareg?
A) Cracking A) HfT
B) Phishing B) ferferT
C) Piracy C) Tt
D) Hacking D) g

44) Which of the following Malware acts as a backdoor 44) fAwferferd & & i AT A9 UF ThS 6 &1 H FH1d
and it may hide a virus or other potentially damaging a1 g 3T Feed § 9go YTH FA  [o[C qE<d AT T+

program in it to gain access to the system? T (FFaTiad) SRR TR & =T awdr g2
A) Trojan horse

) Fr 2t
B) Antiworm B) tétaw
C) Worm C)aH

D) BOT D) BOT

45) Select the shortcut key to get the copyright symbol 45) MS 3 & ifivTze fovae & fory erféae it wi w7 87
in MS Word?

A) Alt + Ctrl + C A) Alt+Ctrl+C

B) Ctrl + C
C)Alt+C

B) Ctrl + C
C)Alt+C

D) Ctrl + Shift + C D) Ctrl + Shift + C
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46) A copy of a data that can be used to restore and 46) =T it TF T ST 2T &l [TEATAT T TN Feed

recover data is % ToIT START BT ST aFhaT 8, a8 8
A) copied data A) FIft T g 2eT

B) restoration data B) Reareer gaT

C) storage data C) TSl 22T

D) backup data D EEEEEEC

47) A Table can be viewed in a number of ways in 47) ATsHETE T 2016 | Fc dilhl F UF 2o <@l o7

Microsoft Access 2016. They are GERIEE R
A) Design View, DataSheet View and PivotChart

View A) =STET =7, 2t ofie 21 o7 Trzare = =,
B) Design View, Data View and Pivot View B) == =, Se1 o sfiX wT=ale =

C) Design View, DataSheet View and Pivot View C) etz =, <=7 ¢ffe = 3i¥ qredie =1
D) DesignChart View, DataSheet View and Pivot *D) fesitsd =Te =7, a7 ¢ffe = 3fiT uTzale =1

View

48) Based on which of the following way(s), Modem 48) F=ferfaa # & fohe TaTX o SeMe U<, WISH &I avigd

can be categorized? ot ST JaRaT g2

i. Direction in which it can transmit data i. STreeer foraH I8 2T 1 g F awar g
ii. Type of connection‘toithe transmission line ii. STATHITT FATSH & FelaTT FHT THTT

iii. Transmission mode iii. T ATE

A) Only i A) FaT |

B) Only ii B) & i

C) All' i, ii and iii C)i,ii I i Ty

D) Only iii D) &< jii
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49) Which of the following processes can convert 49) fRrforfed & & i oY IFaT TRdTeAT o0 il AT

cipher text to plain text? g § gfatdd H% gl 8?2
A) Encryption A) TiesmTer

B) Substitution B) Afereage™

C) Decryption C) feferrer

D) Hashing D) gfsr

50) Which of the following statements are CORRECT 50) MIME & s # fAsfererd # & &= 7 99 9af 87
about MIME?
() MIME is acronym of Multipurpose Internet Mail (i) MIME Weda9e Se3de Het UsH A+ T HierH €9 g

Extensions. . . . .
(i) MIME is a standard for encoding and interpreting (i) MIME STt SRS Froitem i fRa=m(zehiiem)
binary files. A & oI U A19F Bl

(i) MIME allows to send audio, video, images,
document, and pdf files as an attachement to an email.

(i) MIME ziife=m, =rtear, sfa=, searasi s pdf wreat
T UF SH % AeTHE o & § AT il AT 4T 2l

A) (i) and (iii) only

B) (i) and (ii) only A) T (ii) ST (iii)

C) (i) and (iii) only B) a1 (i) ¥ (ii)

D) (i), (ii) and (iii) C) et (i) 3 (iii)
D) (i), (ii) 3 (iii)
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Section 6 - Electrician

51) The most commonly used material for overhead 51) S@ETEE THceT & 01T AHAIT IT WIH =l ST ATAT

insulator is
A) porcelain
B) cement
C) plastic
D) wood

52) The helical coils are generally used for:

A) High voltage windings of small transformers
B) Low voltage windings of large transformers

C) High voltage windings of large transformers

D) Low voltage windings of small single phase
transformers

53) A line of 1 meter is shown by 1cm on.a scale. Its
Representative Fraction (RF) is

A) 1/100
B) 100
C) 1/1000
D) 1

54) The efficiency of a transmission line

TR Fr =T 22
A) T

B) HT¥ie

C) Tfes

D) @eT

52) gTereher Ficed Fl SETHTA AHA L 9T o6 o0 grar g2
A) BIE THEET 5§ I A0S A5 % [

B) 912 ZTEHIAY F AH Fieest AT & forw

C) a2 THHHT & IF Aloas] AT3eT & oIy

D). 21 R e A & A9 dieest arsfen & fow

53) 1 meter FT T TET T T TT 1 cm T &= 737

gl TEehr ST fed haex (RF) fohaT g2

A) 1/100
B) 100
C) 1/1000
D) 1

54) T TIETHLT ATSA i Fe7dT

A) is inversely proportional to the square of load A) FT€ TTaT HFeT % A % AHATIATAT BT &

power factor
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B) increases with the increase in load power factor C) A< 9Ta¥ TFe< | g F a1 J2dl §

C) decreases with the increase in load power factor D) &I qTa¥ Hde ¥ T gl g

D) is independent of load power factor

55) In a 132 kV system phase to ground capacitance 55) faft 132 kV foreew Wt it s Fufaew 0.015 yF g

is 0.015 pF and inductance is 6 H. The value of 3fi¥ 3=#H 6 H 8| aTees A9 &l ga™ & forw afde g7
resistance to be connected across contacts of circuit Fiveae & TT FIATT AT AT AL FT T 2
breaker to eliminate voltage surges is:

A) 8 kQ A) 8 kQ

B) 12 kQ B) 12 kQ

C) 10 kQ C) 10 kQ

D) 15 kQ D) 15 kQ
56) The operating speed of an induction motor : 56) ESHMT T T TRATAT T

A) Remains constant with the increase of load Ayere #t g & 979 Row a1 @l g

B) Increases with the increase of load B) T T gf & AT Igd ATer gl STl &
C) Decreases too much with the increase of.load C) & T gfg & a1 agd w7 &l Tl &
D) Decreases slightly with the increase of load D) &Te T gz & AT TSt 7 & ATl &

57) A 12 pole, 50 Hz; star connected induction motor 57) T& 12 91T, 50 Hz, FaT¥ Fid#ee SSF9H Tl HT 12T
has rotor resistance of 0.02 Q per phase and rotor e 0.02 Q T el § 3% Zgd 9% Wex Ruaed 0.3
reactance of 0.3 Q per phase at standstill. It is Q ST % g1 g 250 r.p.m. ¥ T IT AIAT TA-ATE 2eh

achieving its full load torque at a speed of 250 r.p.m. YTH &< 2T gl FA-ATE 2Teh HT SATeIHAT Zeh & STITT FAT
The ratio of full load torque to maximum torque will be ZRTT?

A) 0.24 A) 0.24
B) 0.48 B) 0.48
C) 0.06 C) 0.06
D) 0.12 D) 0.12
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58) Speed regulation unit of the DC drive system 58) DC grza foreay fi wfar ffzra=r zanrs, fie = frewr &
compares the operator instruction with feed back dTZ sffa¥ex & fA<ert F71 e Fdl g e It=a e

signals and sends appropriate signals to the

A) motor field unit
B) field supply
C) firing circuit

D) rectifier bridge circuit

et SIsTdit 872

A) HIZT HiieE e
B) e AT

C) ®TITET Afehe

D) Yfaewmw forst afehe

59) When the load resistance is equal to source 59) & @IS YTALrel Hd TGS o SL(G< Il g, qf 6 |

resistance, which of the following is maximum?

A) Current
B) Power
C) Voltage

D) Power factor

I AT AFARTT Zrar 52
A) T

B) Ta¥

C) dTeast

D) 9Ta¥ HFex

60) In air circuit breaker, the making and breaking a 60) 7o af¥e =< ®, afhe F1 AU i F=we" &

circuit takes place in the medium of
A) oil

B) gas

C) vacuum

D) air

e 3 2T 22
A) 7

B) &
C) fata
D) g4t

61) Which of following statements is CORRECT with 61) i ¥ F gad § Awforfaa § 7 %19 a1 Fo+

reference to synchronous generators?

A) Armature and field windings are both rotating

wEr 87
A) ST S oS ars i At SR 2

B) They have stationary armature and rotating field B) SH T STHAT S AT dieg AT i 8

windings
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C) Armature and field windings are both stationary

C) A=Y 3I¥ e AT IHT FE9 L B &

D) They have rotating armature and stationary field D) I TIETET AHAT 3T T Fiieg AT 21 8

windings

62) A 4 pole, 3 phase, 50 Hz induction motor runs at a 62) 4 9T<t, 3 %, 50 Hz %9 HI2T 1455 r.p.m T i
speed of 1455 r.p.m. speed. The frequency of the & =@l gl =& Fafd § =uis & YA e.m.f. ¥ swgf ra«r

induced e.m.f. in the rotor under this condition is

A) 1.5 Hz
B) 0.03 Hz
C) 0.06 Hz
D) 3 Hz

Fnfr?

A) 1.5 Hz
B) 0.03 Hz
C) 0.06 Hz
D) 3 Hz

63) A household has a load of 16 lights and 8 fans. As 63) U& =¥ | 16 T3 3T 8 UE & IS gl WA ATHH
per the Indian Standards Institution, the minimum &eaT & sqa, U U e * &0 srasas ga-qfe it

number of sub circuits required for the given loads is:
A) 2
B) 3
C)5
D) 4

IAqH HEAT 8
A) 2
B) 3
C)5
D) 4

64) At constant voltage and supply frequency which of 64) fRaT Fieest 3T TvaTa fRg=l ux freft oawie §
the following losses in a transformer remains constant? REfeIed & & FI9 & &fd THAHTE a1 T2dT 872

A) Windage losses
B) Friction losses
C) Core losses

D) Copper losses

A) eSS afq
B) fheere erfar
C) #IT &far

D) =< erfar
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65) An 11 kV, 500 MVA 3-phase circuit breaker 65) T& 11 kV, 500 MVA 3 s #fae s T e %
interrupts a circuit when a fault occurs. The rated FTXUT SATH I EEICIIECEI L EIEE 2 e 1o i A

symmetrical breaking current (RMS) will be: (RMS) Zr:

A) 26 kA A) 26 kA

B) 20 kA B) 20 kA

C) 30 kA C) 30 kA

D) 33 kA D) 33 kA
66) The feeder size is mainly based on 66) hIeT A9 qeT &9 & 36 92 a1 gram 8?2
A) location of distribution transformer A) faraeor TR & sEteata

B) load current B) &IE i<

C) system frequency C) freew &t gt

D) system voltage D) freeq areesy

67) The stator of Split Phase Induction motor has two 67) wefe et TS9erH HIeY & ©aT § I AT gl &
windings called Running winding and Starting winding. f5vg T a3 i worfdr arEfE Fg1 Srar g1 werfer

The Starting winding has FrEfeT o

A) Low resistance and high inductance A) FH TTare (XEee) T 3g IThcd (339d) grar g
B) High resistance and low inductance B) 37 Wia<re (XEeeH) oiix 7 YThed (SSHed) grarT g
C) High resistance and high‘inductance C) 3g viawrg (Xoeew) T 37 IThed (339H) grar g
D) Low resistance andow inductance D) W Sawreg (XEeee) 3T &7 Yahcd (33) grar g

68) For temporary use of electricity in open areas, 68) Gl 3T | faselt & & ITAN F U, omw A<

which types of wiring is generally used? ¥ TR TR % AT RAT Yo R ST g2
A) Cleat wiring A) Fefte AT

B) Conduit wiring B) #ee AT

C) Concealed wiring C) Fwfiee aratiT

D) Batten wiring D) des arafiar
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69) Which material is used to prevent the conductors 69) FEFeT &l FTAlE T ATEL MM H U 6 [T HIA |

from coming out of slots?
A) Empire cloth

B) Bamboo

C) Impregnated paper

D) Sleeves

ATt w7 ST 82
A) THTIR FATT

B) &7

C) THHIeE I9

D) ®ettest

70) In a star delta starter method, the voltage across 70) ¥T¥ TwaT T2 At H Y el aTefe § FleesT
each phase winding is equal to (where Vi is line T a<Ta¥ BIdT 82 (Tl Vi @I aleedl &)

voltage)
A) V3 VL
B) VL
C)W/3
D) VL /V3

71) In phosphor coated discharge lamps, the emitted

wave length of Cadmium Borate is

A) 5950 A°
B) 6150 A°
C) 4400 A°
D) 5250 A°

72) As per the general specifications for electrical

works, the preferred location for switch room is
A) Any corner of the ground floor

B) Near the entrance on ground floor

C) At middle of the ground floor

D) Near the entrance on first floor

Page230f32

A) V3 Vi
B) Vi

C)V./3
D) Vi N3

71) ®IEET Flee REaTS a7 #, FeiHaw ae i s
Faet fRaet grar 872

A) 5950 A°

B) 6150 A°
C) 4400 A°
D) 5250 A°

72) fo=ga w1 & forw | AEeert & aqar, e =0
& forT qediaT ©e =949 | 9 91 87

A) TTST FATT FT HT8 AT FHT
B) UTST ¥ 9T Ta9T FIX & ITH
C) ITSE FAR & =7 |

D) ToIH FAIX 92 Ta¢T F1X o 9T
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73) The Rotor Rheostat speed control method is used 73) Tex aTeee wiiT g fafer s T3k il SITdT 87

in

A) Synchronous motor

B) Double Squirrel cage Induction motor
C) Slip Ring induction motor

D) Single Squirrel cage Induction motor

A) T qrex

B) s fRgayet T SSHUH HIT
C) f&a R T==a Hiex

D) forer et 7 e HieT

74) Which among the following is the energy 74) TfacH &1 gle wdes § HHfoiad § & 9 97 Sl

conversion principle in an electric room heat converter &qiazor ffrgia %’?

?

A) Infra-red heating
B) Arc heating

C) Induction heating

D) Resistance heating

A) TRT-E EfdT
B) e gifer

C) STHIA ite
D) Y gifer

75) The maximum disturbance levels acceptable for 75) s=ffzae afarser & foru wfisnm sriersraw aveT % wa< 7

Industrial environments are defined by
A) IEC 61000_6 standard
B) IEC 41000_6 standard
C) IEC 51000_6 standard
D) IEC 71000_6 standard

76) Which motor is also used for reactive power control

at power houses?

A) Synchronous motor
B) DC motor

C) Induction motor

D) Universal motor

oraeh g areaTiue R ST 82
A) IEC 61000_6 HTF
B) IEC 41000_6 AT %
C) IEC 51000_6 HTF
D) IEC 71000_6 W%

76) farstett =i § Rufaea e = & forg = |7 91
<t s T STTaT 87

A) fEFweT Hqrex

B) DC Hex

C) T=H99 HI2X

D) &€ Alex
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77) The average working life of a compact fluorescent 77) U# Fi¥dse ¥ @ (CFL) &1 f\d FTd FTT

lamp (CFL) is e graT 87
A) 800 Hours A) 800 s

B) 60 Hours B) 60 =i

C) 8000 Hours C) 8000 =i
D) 400 Hours D) 400 =

78) Which of the following equipments is NOT found at 78) Mwferfed ® & 19 AT ITHLUT Tawee= § gl IAT
a substation?

STaT g2
A) Lightning arresters A) ATz s
B) Circuit breakers B) ®fehe srshel
C) Insulators C) =AqeIed
D) Exciters D) TeFETEEH

79) If the total available power generation output fails 79) a3 Fo Iursel AT ICATET A e & T =l It

to meet the demand, then which of the following #&i gIdl &, AT SCATEA T T % A= HAT a4 & (0

approaches is used to balance generation and F=ferfera ® & Fr9 AT IUTT TN FFAT STTAT 82
demand?

A) Penalizing bulk consumers A) T STATHA il Z1ed HLdAT
B) Efficient plant operation B) e HATAT § T&1dT

C) Load shedding C) A< QrfeT

D) Power factor improvement D) wia¥ Fae< # g4

80) A synchronous motor running with normal 80) U HTHTT ITASHT & HTT I TET [=h AT T2 Al
excitation adjusts to change in load by change in § qiede FATAST Fd o forr (e & & e o

ATAT 5?2
A) Back e.m.f. A) 5% e.m.f.
B) Power angle B) == T
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C) Torque angle C) T &I
D) Armature current D) sIrH=T #ie

81) Which type of electrical motor is used in domestic 81) =< freae & forer Wt &7 fereqd Hiew waeh Fohar Smar

mixer? g?

A) Universal motor A) TfHaHe 7Y
B) DC series motor B) DC #{it Hiex
C) Capacitor motor C) Fufex HIeT
D) Pole shaded motor D) Tt 91T HIexX

82) A power plant has initial cost of Rs. 2x108. Assume 82) T fasteih H6I= Fif L&A AR %. 2% 108 g1 I ToF
salvage value 15% and useful life 25 years. Using (Salvage value) e 15% ¥ TR Sttad 25 a9 AT |
Straight line method, value of the plant after 25 years &z @1z [&Afer FT ITANRT Fd gU, 25 TT 4 AT AT AT

will be: g\vzrﬁm—rrr@m?
A) Rs. 2x107 A) ®. 2x107
B) Rs. 3x107 B) ®. 3x107
C) Rs. 5x107 C) ®. 5x107
D) Rs. 4x107 D) ®. 4x107

83) A 25 MW power station has a maximum demand 83) 25 MW dia¥ Tor9 #iT ATawaw 7R 20 MW 81 aTfieH

of 20 MW. The annualload factor is 50%. The plant @ FFe 50% 2| Tie FUTHET FFe? &
capacity factor is:

A) 60% A) 60%
B) 50% B) 50%
C) 40% C) 40%
D) 30% D) 30%

Page260f32



Set Id : 49829 47

AO SBO JLM TG_04-Nov-2018 BATCH4

84) If the wiring of a building consists of 20 points of 60 84) =T fFHT wa= T AT I | 60 W = Feat & 20 T
W lamps and 4 fans of 100 W each, for a 240 V supply 3T 100 W S<4% % 4 9% g dT 240 V AT &reeq ¥,
system, the permissible insulation resistance would be: SRR TFHAAT TTALTe FhaT 2RIT?

A) 0.3 MQ
B) 2.08 MQ
C) 3.6 MQ
D) 1.08 MQ

A) 0.3 MQ
B) 2.08 MQ
C) 3.6 MQ
D) 1.08 MQ

85) The short circuit current rating of XLPE copper 85) XLPE F{u¥ Faew il €lle Tfehe Fie L foheen g1

cables is governed by

A) Supply voltage

B) Conductor resistance
C) Conductor capacitance

D) Conductor impedance

86) An electromechanical device for canverting
electrical energy into mechanical. energy to feed
motion to different machine and:mechanisms for
various kinds of process control is.called

A) controller

B) electric drive

C) starter

D) electric generator

o St £7

A) TS Froest

B) seeex Tfaary (¥feee)
C) FEFe FuHed

D) &= SiaardT (zrhizw)

86) fafersr were & wihar fMe=ror & o sremt-srerr wefi=i
ST TSEAATSAT FT TIH IS FA g Ad Sot1 & A
Fot § gfRafda #27 arelt U soaysHad farey &
FAT FgT SATAT 872

A) FEITT

B) Tefe 312

C) =TT

D) Teifaes SAAeey

87) The control device used to detect the earth leakage 87) % sl i FT TAT TMH T FAlhol FE &
current and disconnect the supply when leakage TSR 0T & e g I qoeAr A7 fSFhelere F7 &

current exceeds preset value is:

T TEqaTe Rt ST aTeT g ST B
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A) ELCB A) ELCB
B) MCB B) MCB
C) Isolator C) sr=HTeex
D) Fuse D) ¥
88) The rating of alternator is given in 88) aAfwavrex &t ¥fewr oy | & STt 82
A) KVAR A) KVAR
B) KW B) KW
C) MW C) MW
D) KVA D) KVA

89) A 3 phase, 400 V, 50 Hz, 4 pole synchronous motor 89) U= 3.%w, 400 V, 50 Hz, 4 T f&ise qex § 14°
has a load angle of 14° electrical. The equivalent Zafaedher T TS HIT gl THFA Hehidwe (U Tohawr

mechanical degrees will be ivir?

A) 14 degrees A) 14 =3
B) 21 degrees B) 21 f=3ftsr
C) 17 degrees C) 17 f==3f=t
D) 7 degrees D) 7 f=3fite

90) What will happen.if the connections of any two of 90) aIfx TTH-%s SSF HIE A1 JTI § | fohegl &l

the three wires of the three-phase induction motor are T TTH § F& 4T AT & AT FIT FRIT?
interchanged?

A) The motor will stop running A) T FAAT I8 FT T

B) The motor will run in reverse direction B) #rex faaia faerm & =om
C) The motor will get burn C) HTeT ST SITUT

D) The motor will run in same direction D) wrex 3 fRerm § =or
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91) A room of size 10m x 4m is to be illuminated by ten 91) 10m x 4m THTT FT TF FHAT 150 W F 7 FF99 ZIT
150 W lamps. The MSCP of each lamp is 300. Assume &< AT ST 81 Y& «FF &1 MSCP 300 %I

a depreciation factor = 0.8 and utilization factor = 0.5. FR¥fHTTeE FaFex = 0.8 =¥ FfeAT=SI9T FFe = 0.5 ATH|

The Average illumination produced on the floor WeT (FTHIT) U< IeqTIad & TN ohaeT ZRIT?
(approx.) will be

A) 294.3 lux A) 294.3 lux
B) 200.6 lux B) 200.6 lux
C) 250.2 lux C) 250.2 lux
D) 500.8 lux D) 500.8 lux

92) Which of the following is NOT a type of Single 92) Ta# & i+ &1 fovTer Wt ST HIaT T TF YL Al

phase induction motors? g?

A) Repulsion-start Induction motor A) Reeo-TeTe S2F99 A2
B) Shaded-pole Induction motor B) 9Se-9IT S2F9 HIe<
C) Split-phase Induction motor C) fF=Te-thet TSHeH A2
D) Slip-ring Induction motor DY feerq-fEr e "Hiex

93) Cost of fuel transportation is practically hil in which 93) fR%r ZtT &= § & foh § So9 Iage il AT A8

of the following power plants? o 9 T g2

A) Nuclear power plant A) TTHTI ST §5T

B) Steam power plant B) AT ZTXT ATIeTd SofT HA

C) Hydroelectric power plant C) STATA= Sooll &3

D) Thermal power plant D) a1 ST 69
94) The basic elements of an electric drive are 94) U fA=[d 124 & IAATAr T &l 7 57
A) power supply and electric motor A) TTaR ToATS T ToA T HIET

B) electric motor and control system

B) Toifaash T2 3ii¥ Fdier ffeeH
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C) commutator and control motor

C) FFEeT 3T Felel HIeX

D) rotor and control system D) ¥e¥ ST Fere ffreed

95) Which of following options can be defined as the 95) wferfera & & #i9 & faweq 1 Fewet ufaT ufd T

ratio of conductor area per slot to slot area? q TTe TRAT o AqITT & &7 § g FFar Srar 872
A) Specific permeance of slot A) Tte #1 fafore ooy

B) Slot pitch B) wffe fu=

C) Slot leakage flux C) TATE A TehoT FeAereT

D) Slot space factor D) = {e T4F HhFex

96) A diesel power station has per day fuel 96) U Sisiel Tia¥ TIH H Wid & &t Foter @aq 1000
consumption of 1000 kg and units generated per day kg g ¥ fafaT.5000 kWh IR IeqTa H SATAT 2l

is 5000 kWh. The specific fuel consumption is: faforg g @ &
A) 5.0 kg/kWh A) 5.0 kg/kWh
B) 0.25 kg/kWh B) 0.25 kg/kWh
C) 0.2 kg/kWh C) 0.2 kg/kWh

D) 0.5 kg/kWh D) 0.5 kg/kWh

97) A hydroelectric power station is fed from a reservoir 97) U gTgIsaliaes qTa¥ L9 T M 160 m % T
of capacity 10x108 cu.m at a mean head of 160 m. The 82 & 10 x 108 cu.m &AHAT % SATAT FIXT T ATAT 2
hydraulic efficiency.is 80%. and electric efficiency is ZT=gITers 3eadT 80% & ¥ fa=[d 34aT 90% 2| TTS STATAT
90%. If the area of reservoir is 3 sq.km, what will be the 7T &= 3 sq.km g, T 40000 kWh T 3T & farsrett &t smqfa

rate at which the water level falls when the power is T ST 9%, 9T+ &7 ¥ 7 &1 a2 FA7 g2
supplied at the rate of 40000 kWh?

A) 0.0625 metre/hour A) 0.0625 metre/hour
B) 0.0425 metre/hour B) 0.0425 metre/hour
C) 0.0575 metre/hour C) 0.0575 metre/hour
D) 0.03185 metre/hour D) 0.03185 metre/hour
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98) Operating voltage of Super-tension (ST) cables 98) =TT ATEH & oM ITANT T T AT FAL-2H

that are used for underground service is upto... (TF &) Faed T AT ATeesT Fha" T grar 82.....
A) 55 kV A) 55 kV
B) 11 kV B) 11 kV
C) 33 kV C) 33 kV
D) 22 kV D) 22 kV

99) For the variable voltage variable frequency supply 99) T# TTHF HIZY 3129 & (AT LTS qleasl ATaA
for an induction motor drive, if rectification is EEET F qfd * forw, FfT TEEfRweT afARET g, ar
uncontrolled, the voltage and frequency can be @Teest 3T gl M= H & foFer & Mafa 7 s a1 £2

controlled in a

A) Single phase bridge inverter A) TR %S foet Svaex

B) Three phase bridge inverter B) o+ W foronzvaex

C) Pulse width modulated inverter C) ¥ 3= AISATEE T7aey
D) Two phase bridge inverter D) &I et oIt 3/ aex

100) An autotransformer has 100) TF AIEAHRTET &

A) one winding A) TF ATEET T @

B) two winding B) ar aTsfE grar &

C) three winding C) &« arEfEr grat &

D) four winding D) 9 ATEfe T gt &
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